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CHEMISTRY

What is the electrode potential (in V) of the following electrode at 25°C ?
Ni%* (0.1 M) | Ni(s)

121.

(Standard reduction potential of Ni2* |Ni is -0.25 V; Lm"gjﬂ= 0.06)

25°C 38 (808 e85 8 @nEy AeflE ¥H0 (V 667 o087
Ni®* (0.1 M) | Ni(&)

(Ni%* |Ni Gl |E&rw Jabite ¥o - -0.25 Vi 2,3{}; RT=D‘.DE]|
(1) -0.26 weT 028
(3) +0.25 (4) -0.31
s Which of the following oxy acid of sulphur does not contain S-S bond ?
Pyrosulphuric acid (2) Dithionic acid
{(3) Dithionous acid (4) Pyrosulphurous acid
808 Heyb ey ssre6® 8D6° S-S wofdn aod&?
vﬂ’ EB‘&W‘Qgﬁf ﬂ£ﬁn ) Eﬁizﬂﬁg a0
(8) FEArIS wdo (4) D6°8emygst” wiko
e What is the equation for the equilibrium constant (Kp) for the following
reaction ?
] w i 7
Bob Wogh SdMectiored (Kp) sdsomas 287
1 1 T(K) 2
—A =B(g) m——=-C
5AB)+ 3B() ;C(8)
11 3
2. .3 2
Al |B
(1) K{: :Lu.il._ (2) KC:__[%]_
2 (A [B]
(€] :
2 2

MKFJIEE—F (4) KG;—[E]JE—F‘

(A)? (B (a]" + [B]’
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What is the conjugate base of HSO; 7
HSO; &3 womdd oo 287

(1) H,S0, (2) HSO¥ ~#f S0 4) H*

125.

Which of the following is not correct ?

(1) Enthalpy of physical adsorption is less compared to enthalpy of chemical
adsorption

(2) Milk is an example for emulsion

Viﬂf Physical adsorption increases with the increase in temperature

{4) Smoke is an aerosol

Bo8 >EE° 28 S6ARIL Teds?

(1) §*88 «4Fimo Q&) dogerdy, 0 ad ©8idce awg, Jogrbndow
#5045

(2) aboSnh acste rw

M SIS BOAITEE TS ©8FHndy BHHS0S

4) 6 wf JonG s

126.

Observe the following reaction :

Alg) +3B(g) —— 2C(g)
dl A l
The rate of this reaction [——2?]] is 3 % 103 mol.lit"L.min~!, What is the value
of -E;[.!TBI in mol.lit"Y.min~1 ?

$ob SEzS H03Dow :
Alo) + 3B(am) —— 2C(am),

dl A
Bo 383 Bew [—%] 3x107% ;i::r.f:_l,a‘l. sownd —%?1 Dens Arb Lo lus®
Q6E?
(1) 3x10°2 N9 x 1073

3 1072 4) 1.5x1073
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127, Which of the following can give a Grignard reagent when reacted with magnesium
in dry ether ?
308 =8&6% 286 B8 &b ssfed® a:ﬁ&;:muaﬁ Sdp 208 o Lﬁ”‘tl§
FUfsud hHosE?
(1) C,Hg w2 C,H,CI
(3) Cy,HLOH . (4) C,HLCN

128,

Consider the following reactions :

I. Al+NaOH+H,0 & ,

[I. Fy+NaOH (conc.) ——

[II. NaOH + P (white) + H,O ——

The correct set of reactions which give gaseous product is :

AT L I and I . (2) Only I and T1

(3) Only I and III {(4) Only 11 and III
Be8 Sogod: Z838odhan :

. Al+NaOH +Hy,0 4,

IL Fy+NaOH (rrg) —

III. NaOH + P (8¢) + HO —

sradn Sareorgly adp S0z S0GE S8

1T ssase T (2) 1 &0at I so@d

(3) I sbcw I S (4) I s:8cw I S8k

128,

Acidified KMnO, oxidizes oxalic acid to COy. What is the volume (in litres) of

10~ M KMnO, required to completely oxidize 0.5 litres of 1072 M oxalic acid in
acid medium ?

6288 KMnO,, s Bf sd=d) COp 5§ edyemo mlom. 05 Dey
102M 6705 o (@Sad) ek desyed® ot edydne dabelk
eSohd 101 M KMnO, $s888rm0 (bades®) o8?

(1) 125 (2) 1250 (3) 200 v 20
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408 What is X in the following reaction 7
Bob wuge® X aa?
KHSO4 + Fp —— HF + X
(1) K80, (2) KyS,0, (3 K;58,0, v K;S,04
i Which of the following is not correct ?
(1) Al reacts with NaOH and liberate H,
(2) AICl, is a Lewis acid
(3)_ Al is used in the manufacture of electrical cables 2
W’ NaOH is used during Halls process of purification of bauxite
Bod oE6° DO HEHEE wa?
(1) Al, NaOH &° %§35°08 H, & J&fe Jah
(2) AlCl; «¥ wooron eschds
3) Al & g6 8o oy S0l asAEARD
38 $886° oSS wodas $B8uHE® NaOH & sdheds
L Mateli the following lists :
List 1 List 2
(A) Alkanes 1. Molasses
(B) Ethers 2. Hell-Volhard-Zelensky reaction
(C) a-Halogenation 3. Williamson synthesis
(D) Ethyl alcohol 4. Wurtz reaction
5. Aldol condensation
206 €D sdIOHan :
L | on 2
(A) mé&..ﬁ:" 1. avernh
(B) soges 2. wd-§'&seb-BEDy, IOy
(C) a-Me&adssmo 3. 20a%osS Soddwmo
D) u3é wopzé 4. eﬁ;g 1.1
5. word SogHSSsn
The correct answer is : -
GO& smorew:
o (A (B) (C) (D)
v 4 3 2 1
(2} 3 4 2 5
(3) 2 5 3 4
{4) 5 2 -3 4
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The reagents and the reaction conditions used in the formation of benzene diazonium
chloride from aniline are :

(1) Aq. NaNO,, HCI, 25°C {2) Dil. HCI, 0-5°C

(3) Aq. NaCl, HCl, 20°C M Agq. NaNO,, HCI, 0-5°C

2285 %ol BodS HarE Nato 508 Satrd SRS wIOlT Fower SO
woep :‘ﬁﬁ;‘g&w g !

(1) =e NaNO4, HCI, 25°C (2) Hee HCI, 0-5°C

(3) me NaCl, HCl, 20°C W wzo NaNO,, HCL, 0-5°C *

137,

Assertion (A) : At 27°C, the kinetic energy of 8 grams of methanc is equal
to the kinetic energy of 16 grams of oxygen. .
Reason (R)  : The total heat change in a reaction is the same whether the
chemical reaction takes place in‘one single step or in several
sleps.
The eorrect answer is :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true and (R) is not the correct explanation of (A)
{3) (A) is true but (R) is not true
{4) (A) is not true but (R) is true
DHEEe (A) : 27°C 58 8 rawe %EE Gwly HBe¥S 16 rive shed
Gy, :‘EBEG_E"S et LR A
eSmdn (R) :  of S>aS $03 of S¥6° wdA, oS S¥ef® wdho
363670 adsmdy ol Jwd€” aowwod
Bl od6* Do HeLEa?
(1) (A) shbasn (R) e Todr dwsab. (A) By Sbokd weidm (R)

W (A) Soam (R) o Sodr Rud. (A) Gnf) S85HS I6m (R) =&

@) (A) Dass =0 (R) duse w8
4) (A) Dase & == (R) Jesdwn
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In which of the following molecules, sigma bonds formed by the overlap of sp®d
and P orbitals are absent ?

spid 0o P wfye=g) saddo Seo f;‘d:,gs ?snﬂé pogres, & 308 emped®
Bné® g?

(1) PClq (2) ClF4

(3) SbClj W HCIO,

139,

In which of the following reactions hydrogen gas is liberated ?
Bod O $EgE* T Eud s Jwsss?

W2 CH4COOH + Na (2) CH4COOH + NaHCO,

140.

What is the order of basic nature of hydrides of group V elements ?
Wi V Srosre E‘Eﬁe O Seprann Bwd) Wehan 267
{1] ﬁEHE = SbHﬂ = ]]Ha > NHS t.?-.} NHH o ShH:} > PH3 > ﬁﬁHa

W*” NHy>PH,>AsHy>SbHy  (4) PH,>NHy > SbHy> AsH,

T4

An object is located at a height of 5 km from the surface of the earth. The object
is located. in which part of atmosphere ?

(1) Thermosphere (2) Mesosphere

(3) Stratosphere ‘w" Troposphere

gl @B08vo Hob 5 8.5 &6t LY Y HEEuAIL. B SEH
Tt & Doesost caga?

(1) qﬁﬁ*’%ﬁﬁma (2) &BS6wmo

(3) L SEmo wﬂﬁ*‘ﬁ;ﬁm

142,

Which of the following has pyramidal shape ?
808 E6° 26 BOWES eEyED FOA wowwod?

(1) XeF, 7 XcO,
(3) XeF, (4) XeFg
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The vapour pressure of water at T(K) is 20 mm Hg. The following solutions are
prepared at T(K) :

I. 6 g of urea (mol.wt. =60) is dissolved in 178.2 g of water

II. 0.01 mole of glucose is dissolved in 179.82 g of water

[II. 5.3 g of NayCO4 (mol.wt. = 106) is dissolved in 179.1 g of water

TK) 55 S wepbaso 20 .20 Hy 306 |ooFaros TK) S5 SaraIR.
I 1782 mme 546° 6 e ofbor (smgedo =60) 38RuSndod

1. 17982 re 2&€€° 001 3rfe #rE'E JBAoSwldod.

1L 1791 @ro 5486° 53 me Nay,COy (wengedo = 106) 36005uE08.
-Identify the correct order in which the vapour pres.éure of solution increases :
So @Sy Erajaddo 00 S0GNS FESrY Srdowh dsmerdded ko
(L 11,1, III (2) 1II, 111, 1

(3) K 11, T @) I, 1I, 1

Which of the following 15 correct ?
(1) One Fermi is equal to 10712 em
a# 5,Ca’® has magic number of protons and magic number of neutrons
(3) In the following nuclear reaction, K=ECI2
0% (n, @)X
(4) P is used in the detection and treatment of cancer
Bod EE* Do HoGNIE? _
(D ef 38, 1071 Lol SSesse

%mﬂa‘w &t Sragf domz fe Perden Sbok '.;.ﬁvgﬁf Howgtiv

e B eTe S BT G,
(3) Bod Bows o3t X=,C12
g0, wX
@) m$bdh SHHek SHoak 088 dawed PP G as@razo
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The correct order of Vander Waals radius of F, Cl and Br is :
F, Cl b8ae Br o 04 &6 ogrdaue S066p3 @b

(1) Cl>F > Br V& Br>Cl>F
{3) F>Cl > Br 4) Br>F > Cl
148, The pH of aqueous KC! solution is 7.0. This solution was electrolysed for a few
seconds using Pt electrodes. Which of the following is correct ?
(1) The pH of solution decreases
The pH of solution increases
(3) Cly is liberated at cathode
(4) The pH of solution remains the same
KCl zorsod pH = 7.0. & ordaryy Pt QofSossd@rhol 578y REde
e Ags Jldmdn edowrd. (80b et D8 SoGLEH?
(1) erdims pH Stdiod
(rdmap pH Dmdiod
(3) 3§°5 &g Clp Iwamaod
4) e Swh pH ©od doewod
s In which of the following reactions ethyl chloride is not formed ?
Bod & JogE® a@d 504 HELH?
(1) CyH50CoH5 + PCl5 —2
(2) CyH50C,Hs + CHycOoC1 —2Cl3
¥ C,H0C,Hs + Cly —2¥
(4) CgH50H + PClg ——
148,

The reaction of HyO, with X does not liberate gaseous product. Which of the following
is X7

X8 ani®d Hy0p wops® araln Sairedge Ieddch. 8o a:-ﬂé"}{m&?
(1) PbO, (2) KMnO,/H*

.,m’ PbS 4) Cly
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What is the total number of ions present in one unit cell of sodium chloride
lattice ?

St&dho E’BE erof el ordd ST ol Indo sardo Sopg Jod?
1 2 @) 6 3) 12 w8

Which of the following not only decolourises the alkaline potassium permanganate
but also forms red precipitate with ammonical cuprous chloride ?

(1) Ethane (2) Methane W Acetylene (4) Ethylene

Bod o86* 26 grbyys rerhohe Soondendh D50 Sandabors, warydsd
ﬂ:'gl'aﬁﬁ E:EEE“ QPN oIF>D gdaties?

(1) @S 2 L3@s AT onads 4) wabs
151. Which of the following is a ferrous alloy ?

(1) German silver (2) Gun metal

Udf Nichrome (4) Devarda’s alloy

Bo8 >EE* D& PR S E8xeo?

(1) @8Hs degb (2) 68 Do

w7 368 @ ‘Gao’ Es v

Which of the following is not correct ?
(1) Temporary hardness of water is due to the presence of bicarbonates of calcium
and magnesium in it
(2) Permutit is artificial zeolite _
w H,0, acts as an oxidizing agent in the following reaction :

Clg + HoOg —— 09 + 2ZHCI
(4} H,0, is used as bleaching agent for delicate textiles
Bo8 &+EE° D& VOISO T?
(1) 34 Sy mm&@.‘ra’ TOIg8 RGN TEabe ook iy fabo BeeFpdde
13 5&&&:0&
(2), BESABE oy HyBs SE0BE
vﬂf' 180 ;Sb’gé" H,0, HJ"-E'JE gedfod Jodalud

Clg + Ho0g —— 0y + ZHCI
(4) HyOp & Slpsdd ST ol Jdosdwdl @sd@rddm.
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e Which of the following forms an ester when treated with ethyl alechol ?
Bob AE* 28 8Pd wopFtds® $og edtbIPHd ¥ 256 Riwos?

v HNO, 2 80Cl,

(3) Con.Hy50,/140°C (4) PClg

The angular momentum of an electron present in the excited state of hydrogen
1.5h

is = The electron is present in :
w Third orbit (2) Second orbit
(3) Fourth orbit (4) Fifth orbit

1.5A

n

&8s Guly aded 286° L) Sowd 'das SSg Sese . doT S
[ -] e b
ad) wiyd 287

7 SrEs wiy (2) Sods edyd

3) o TN 4) =85 ebpd

Which of the following is formed when the product of, oxidation of chloroform is
treated with ethyl alcohol ?

(1) Ethyl chloride \ﬂ(‘Eth:ﬁl carbonate

(3) Chloral hydrate {4) Chloral

5:5"@-59 @y edhite ad ol n@g woyH*E8° ¥y ebbiHd Sod
46T 28 ahdd?

(1) a6 538 V7638 w63

@) 8°w& @& @) 58
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The molecular weights of two ideal gases A and B are ‘respectively 100 and 200.
One gram of A occupies V litres of volume at STP. What is the volume (in litres)
occupied by one gram of B at STP ?

A $H0cn B wdnd Bod ﬁﬁﬁ;ﬂ'ﬁﬁmi}ﬂ mengrrorer S80S0 100 Sdaie 200,
STP S& ef |mss A sf¥lod HIS0Srwo V et STP 55 wf (s
B eigliod pIz6Srme (Sugest) oos?

\'
& 5 @ v 3 V2 4 2V
el Which of the following compounds can give iodoform test ?

(1) Formaldehyde #Y" Acetaldehyde

{3) Diethyl ketone (4) Diethyl ether

Bo8 IH/vres® 26 wab&®Ico b agyte?

(1) o0& v g

(3) 3agé 46°5 (4) Gu3d Gy

158.

Which of the following does not give flame coloration ?
Ged sB8&°Y 28 Eree  Jolfhd ﬁﬁ_&gi:?

w Mg (2) Ca (3) Sr (4) Ba

What reagent is used in the Rosenmund reduction ?
Flsniod HaOSinsnd® asdrfod wosda?

160,

W H,|Pd-BaSO, (2) LiAlH,
(IIHQ—UH
(3) NH,NH,|KOH (4) Zn-Hg|HCI
HyNH, | | CH, - OH n-Hg|
In which of the following reactions ethylene is formed ?
(1) C,HZOH, dil. H,80,, 0°C (2) CH40H, con. H,yS0,, 170°C
(3) CoHgBr, Zn, A W4 C,H-OH, con. HyS0,, 170°C

1808 Soged® gods AVE® DHHd?

(1) CoHgOH, Sme HySOy, 0°C - (2) CHROH, rvg HyS0,, 170°C
(3) CyHgBr, Zn, A J#” C,H.OH, rrd Hy,S0,, 170°C





